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Econ 11, Spring 2017

Midterm 2

S— Jhao
-

Instructions

o461 608

e There are TEN multiple choice questions and TWO problems.
o You should show your work and box your answers.
e Books, notebooks, graphical and scientific calculators and phones aré not allowed.

e Regulator calculators are allowed.
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Multiple Choice Questions (5 points each)

1. The Marshallian demand for good x is given by z = P i) P21, where p, denotes the price
of good z, Py the price of good y and I income. The demand elasticity with respect to,

Income is equal to: /P/ /l/

g A =72 a2
el |

(d) None of the above

2. A given firm’s production function is given by f(L, K) =
of technical substitution is equal to: —E/ 1/

(a)

£ , argm/il“r?j

Lo, KA
N

one of the above

()

(d)

3. A given firm’s production function is given by f(L,K) = AL*K%5, For what values °
of a does it exhibit constant returns to scale'?

(&) a=1/3 SV = (j/ 1/)" A(L[) ({»@

- MLPLRY
(b) It never exhibits constant returns to scale. - {
{)’Q'ILO 6,4 zi)fk 0.%
< 94 Ine —
/105 = [ R
' L T = r

/
| 4. Assume good z is an inferior good. Which one of the followmg statements is turue.

-

(a) z is a Giffen good if the income effect is postive.
) The substitution effect and the income effect are of opposite signs.

6~ )
I /*, (c) The substitution effect and the income effect are of the same sign.
(d) None of the above

5. Assume a production function f(L, K) = min(2L, 6K ),
will give the same level of output as (L, K) = (3, 4)

i ( 6/ 7 LO Midterm 2

what combinations of Inputs
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(2) (L, n (AL 7

(b) (L K L/ [

() (LK) = (3,1) L
J All of the above.

l

6. If we observe that the demand for good « decreases when its prjce 1ncreases, we can

conclude that: . M

(a) Good z is a normal good N CoL- ’ { ~ 0{@/"“/;0[ ‘l/

(b) Good z is an inferior good ! /7
(c) Good z is a Giffen good L . 1 + , 5 - r/(;f'?"ufﬁ.{ s

m We can’t conclude anything about good z.

7. The compensated price elasticity of demand (hint: the one that uses the Hicksian

demand function) accounts for: () A
] hr
(a) Both income and substitution effects. "’2’/7‘
!
(b) Income effect only. ' dc
- 0 O b )1 ¥ )if
¢)/Substitution effect only. JL- = — X
d) None of the above. Py J P D/f

8. The following relationship: ez p, + €zp, + €z, 1= 1 {7 |

ﬁ Is never true \/ - E’/ﬁ“ ! /')‘;' ’
(b) Is always true P TRAY IS
(T 7,’7,,
7 W) Is only true if z is a normal good. o _’”,,WN_W_ ‘
/ 4 - .
. X_""d) Is only true if both z and y are normal goods. P V
f / ‘]
9. Assume the price elasticity of demand for cars is equal to -1, while the price elasticity
of demand for beer is -0.5. Assume both the price of beer and cars double. Which one

— I7X Zﬂ\ of the following statements is true:

TR

"/

( ﬂ( 7{/2;}) (a) Both the quantity demanded of beers and cars will increase. ‘_/K,[\\ [

The quantity demanded of cars will decrease more than that of beer ( [ [ - { i y il /
’,%//‘ (c) The quantity demanded of cars will decrease less than that of beer

( ffq'[' W‘) (d) We can’t compare how quantities of cars and beer will respond relative to each
wim other because they are in different units.
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Econ 11, Spring 2017 Midterm 2

(e) You should drink and drive.
10. If capital and labor are perfect substitutes, then:

(a) the marginal rate of technical substitution 1s necessarily infinite.
(b) the marginal rate of technical substitution is necessarily zero.
(c) the marginal rate of technical substitution is necessarily diminishing

the marginal rate of technical substitution is necessarily constant.

Midterm 9
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Q Y Questiong = "3
uest;j 2
utilistlon 1 (25 Points) Sami 1, -
oo 1 3 @ preference for good x and good Y given by the following
Ulz,y) = zy
Hi '
is Marshalhan demand functions are given by:
gz = 2p:c gy ) pr

His Hicksian demand functions are given by:

0.5 0.5
h, = (@ U) <&U>
Pz Dy

The expenditure function is given by:

E(ps,py, U) = 2(Up,py)°3

The indirect utility function is given by:

12

V(pmpya[) = 4]7 P
<Py

Where p; is the price of good z, p, is the price of good y, I is his income and T is a given
level of utility.

1. Derive the total effect for good z. (5 points)

2. Derive the substitution effect for good . Make sure everything is written as a function
of I, p, and p, (U should not appear in the equation). (5 points)

3. Use the Slutsky equation and your answer to question 1 and 2 to derive the income
effect for good z. (5 points)

4. Calculate the uncompensated cross price elasticity of good & with respect to good y.

(5 points)
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o Assume that When Pz =1 and p, = 1, Sami reaches a utility level of 7 = 50. If both

much do we need to compensate Sami to keep his utility level at
int: use the definition _of compensating variation). (5 points)

|\ Tolal I, o, =20

ot~ -1\ 0.5
2\ fuke M,ubwn H/erf—,_}‘_ _ Y((BUP, J _ )

——

be B apx p | /-
./r-—’-O) 0.
.§(P7UPx) "B - U;P”“ AT
v i 405 ,)t _(_FxL_ﬁ..
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Question 1 (answer sheet) / l
\ __)__ﬂﬁ" — O
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Question 2 (25 points)

Assume a firm’g Production function is given by f(L, K) = L°K'-=
grand K respectively represent the number of units of labor and capital employed by the
m.

| The price of labor is given by w and the price of capital by v.

1. Derive the marginal product of labor and the marginal product of capital. (6 points)

2. Derive the marginal rate of technical substitution (RTS). (4 points)

3. Derive the factors of demand L* and K* (

also known as the cost minimizing input
choices)

assuming the firm is trying to produce ¢ units of output. (8 points)
- Assume a = 0.5. Derive the total cost function. (3 points)

Derive the average cost function. (1 points)

Derive the marginal cost function. (1 points)

o = L B

Does this production function exhibit constant, increasing or decreasing returns to
scale? Explain and show your work. (2 points)

&, ‘ of o),
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Question 2 (answer sheet)
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